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X 4 L T LA [GES: HE T ZEH T.3H FAX AT
H19 H20 H19 H20 H19 H20 H19 H20 H19 H20 H19 H20
W 4.8 1.6 -0.2 -0.9 12. 1 4.0 6.5 2.0 3.0 4.1 -0.9 -0.7
PN 2.9 1.0 -2.2 -1.4 8.0 2.8 2.7 1.1 3.1 1.9 -1.5 -1.2
4t R 2.4 1.5 -1.1 0.3 7.2 1.9 1.3 0.8 3.1 1.7 -0.6 -0.4
EUNiERS) 4.0 1.4 -1.1 -0.8 10.4 3.3 4.2 1.4 3.0 2.9 -1.0 -0.8
7Yy -2.3 -2.1 -4.1 -3.5 -2.6 -2.5 -3.0 -2.6 -2.9 -2.2 -2.5 -2.1
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A F R -2.6 -2.8 -2.0 -1.9 -5.5 -5.4 -2.9 -3.5 -2.6 -2.8 -3.8 -4.5
Ik 2.4 -2.1 -4.9 -3.1 3.9 1.4 -5.1 -3.8 -4.8 -2.9 -4.7 -4.0
K IR -3.4 -3.5 -8.0 -7.8 6.2 -5.9 5.4 -5.5 -5.1 -5.7 -3.9 -3.4
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